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3 1. BEEZ ™ (Short Answer Questions)

Directions: In this part there is a short passage with five questions
or incomplete statements. Read the passage carefully. Then answer
the questions or complete the statements in the fewest possible words.

Within these limits the essay title is perfectly right to equate
violence with urban life. There is more random brutality and
murder in cities than there is outside them, and the worst violence
often occurs in the largest cities.

It would therefore seem that there is more chance of knowing
what to do about the problem if we can learn why this relationship
exists. In using this approach I am assuming that the answer to the
problem cannot be found simply by making the police more efficient
or giving the courts more teeth. Even if all those guilty of violent
behaviour could be arrested and brought to trial, the imposition of
ever harsher penalties does not attack the root of the problem.

Furthermore, this suggested answer is based on th ugly
assumption that people are violent when they have the chance to be.
To be sure, human beings are naturally expansive and aggressive,
but this is a different matter from the violence which is in question.
Those who believe in this “nature red in tooth and claw” point of
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view fail to see that no species on earth is in the habit of behaving
destructively to members of its own kind, or to its environment,
without a very clear reason related to its survival. This reason does
not apply in the case of urban violence and there is therefore no
point in regarding it simply as a natural urge which has to be kept in
check.

What, then are the possible ways in which city life can turn a
healthy instinct into a destructive habit? One possibility is
frustration and disillusionment. People who come to live in cities do
so because they want to get ahead. When their dreams fail to come
true they become acutely aware of the inequalities in status and
wealth which exist. They find themselves on the lowest step of the
ladder.

Questions ;
1. What is this passage mainly about?

2. What does the word “teeth” (Para. 2, Line 5) probably mean?

3. According to the author, the people with the view of “nature red
in tooth and claw” believe that .

4. According to the passage, urban violence is nore likely to be
committed .

o

. How does the v;rriter think of the use of harsh penalties?




MEEEEFEER.

It is mainly about the cause of violence in cities.
It probably means “authority or power”.
people are violent if chances are given

by those who fie at the bottom of the society

DAl o A

It is not a solution to the problem of urban violence.

Hd 2. ¥4 W5 (Compound Dictation)

Directions: In this section you will hear a passage three times.
During the first reading, you should listen carefully for a general
idea of the whole passage. Then listen to the passage again. When
the first part of the passage is being read, you should fill in the
missing word during the pause at each blank. After listening to the
second part of the passage you are required to write down the main
points according to what you have just heard. Finally, when the
passage is read the third time you can check what you have written.

In the last century people have accomplished almost

unbelievable technological . From the invention
of the steamship -to the of the spaceship,
humankind’s mechanical » has been displayed. A
phone is picked up and through a + plastic-
coated wire, conversation reaches people around the block or
thousands of : away. Television creates images
on a glass » and soon, through holography a
screen may not even be . This apparent

technological mastery has led people to the quite incorrect and
- 4 . )
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dangerous that technology can solve any and

every problem the environment presents. All that is needed is

enough time, effort, money, and know-how.

But not everything is possible. For instance,

Technology, for most people, is not the solution to loneliness
or despair, nor will it reduce hatred or prejudice. It can be a tool

but not a total cure.

AEATEHEER:

In the last century people have accomplished almost
unbelievable technological achievements. From the invention of the
steamship to the development of the spaceship, humankind’s
mechanical genius has been displayed. A phone is picked up and
through a thin, plastic-coated wire, conversation reaches people
around the block or thousands of miles away. Television creates
images on a glass screen, and soon, through holography a screen
may not even be needed. This apparent technological mastery has
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’ led people to the quite incorrect and dangerous belief that technology
can solve any and every problem the environment presents. All that
is needed is enough time, effort, money, and know-how.

But not everything is possible. For instance, unaided humans

in their present form  could not run a mile in one minute, or

anywhere near it. That is believed to be biologically impossible. Just

as some things are biologically impossible, others are technologically

improbable. It is not likely that we will solve the world’s food

problem technologically. Even with the great advances in methods

of food production, more people are starving today than ever

before. This is partially because population is increasing faster than

the research and innovations that compensate for such population

growth.

Technology. for most people, is not the solution to loneliness

or despair, nor will it reduce hatred or prejudice. It can be a tool

but not a total cure. In fact, the advanced technologies of modern

peoples might ultimately end out existence, because if technological

“progress” is not accompanied by appropriate social change and
ecological responsibility, people may drown in the poisons of their
own industrial wastes.

Main points to be written down:

1. Technology can not solve every problem.

2. Some of the problems are biologically impossible. Others are
technologically improbable. |

3. The development of technology should keep in step with proper
social change and ecological responsibilify.
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Short Answer Questions 1

Directions: In this part there is a short passage with five questions
or incomplete statements. Read the passage carefully. Then answer
the questions or complete the statements in the fewest possible words.

Until the mid-18th century nearly everything manufactured in
England was made by hand by craftsmen working in small villages.
Cobblers(T[F ), for example, piled their crafts in or near their own
homes. Howewer, in the latter part of the century, mass production
in factories began to compete with these village craftsmen and did so
increasingly in the 19th century. The slow methods of the cottage
craftsmen could not compete with the highly organized work of the
factories, especially when steam power was available to speed the
work.

When there were canals and railways to carry the raw materials
cheaply to the big industrial towns, it became unnecessary for the
manufacturing to be done in distant scattered localities. Industry
became more and more concentrated and therefore more efficient.
This change-over from hand crafts to factory production is called
the Industrial Revolution. Together with the great many enclosures
that were still taking place, this Revolution brought great misery to
village people. ‘It is true that canals and railways, as well as roads,

were providing a certain amount of employment in the villages
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through which they passed. But on the whole there was less
opportunity for the country workers than formerly and less variety
in the work available.

Many of the more hard-working and intelligent of the country
craftsmen moved into the towns to become factory hands. Others
migrated to foreign countries. Those that remained in the villages
sank into a state of hopeless poverty, and many of them were near
starvation. Some were forced by hunger to become poachers(i &
#) and thieves, and in places the fights between poachers and
game-keepers amounted almost to civil war.

When labour-saving machines attacked the fields and deprived
the men of the villages of such work as harvesting, which had
always been done by hand, they were so hopeless that they stormed
farm-buildings and destroyed the machines. This did them no

’ good, however, for the farmers and land-owners had the forces of

the law firmly on their side, and the leaders were severely
punished. '

Questions ;
1. What does the “Industrial Revolution” refer to according to the
passage?

2. Why could factories produce goods more quickly than village
craftsmen?

3. What did the development of transportation result in?

4. Why did the village men destroy farm buildings and machines?

.80
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5. What is the passage mainly about?

Short Answer Questions 2

Directions: In this part there is a short passage with five questions
or incomplete statements. Read the passage carefully. Then answer
the questions or complete the statements in the fewest possible words.

Some years ago most scientists supposed that birds such as
pigeons. that possessed the power to find their way home over long
distances, were guided by nothing more unusual than an ability to
recall the very prominent features of the land over which they flew.
It was believed that in flocks of birds that migrate across continents
to their breeding grounds, there must always have been experienced
older birds as well as vigorous young ones. The following year the
latter, having learned by that time, would be the wise ones with
the ability to return to familiar places. This explanation of the
“homing” ability was generally accepted by scientists.

There came the experiments that a scientist called Mathews did
with a variety of birds. These indicated that things were not so
simple as his fellow-scientists and interested amateurs had assumed.
For a sthrt, they proved the learning theory incorrect. Mathews
used two groups of birds for his experiments. He trained one group
to fly from a certain point of release back to their home. The other
group had no training. And yet when both groupé were released
together it was the trained birds that invariably returned home less

quickly. Again and again the untrained ones completed the course
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with greater speed. The obvious conclusion was reached. The
capacity to navigate was not learned, but inborn, and actually
disappeared by training.

By providing that the ability to navigate was instinctive,
Mathews rejected the belief that it was learned, but the nature of

the instinct remained a mystery. Later, experiments by others

disposed of the possibilities that birds were influenced by magnetic -

fields or the earth’s rotation. The sun was for a time thought to
affect the capacity of birds to navigate till someone pointed out that
some birds migrate only at night.

Questions ;
1. How did most scientists assume in the past about birds’ ability to

find. their way home?

2. According to some scientists, a flock of migrating birds had to

contain young birds because

3. What did Mathews use in his experiments?

4. What can be concluded from Mathews® experiment?

5. Where did the difference lie between Mathews and other
scientists?

Short Answer Questions 3

Directions . .In this part there is a short passage with five questions
¢« 10 »
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or incomplete statements. Read the passage earefully. Then answer

the questions.or complete the statements in the fewest possible words.

In the first study of its kind looking at teenage suicide groups, .
researchers find no evidence that people not already at risk of suicide
are more likely to take their own lives after exposure to other
suicides.

The study of two Texas groups occurring in 1983 and 1984
reveals that the teenage victims had no more exposure to other
suicides — either among friends or through news reports — than
did matched controls who did not commit suicide. But exposure to
suicides may profoundly affect individuals already at risk of killing
themselves, the researchers say. Therefore, they conclude, *it
would be wise to reduce the excesses in public exposure to suicide. ”

Each year in the United States more than 6,000 youths take
their own lives — a rate three times that of 30 years ago. Until
recently . when drug wars increased killing to record heights among
15-to-24-year-olds. suicide represented the second leading cause of
death in this age group.

But while psychologists have defined a host of personal and
social characteristics associated with suicide risk, they continue to
debate the extent to which a young person’s exposure to other
youth suicides raises his or her risk of imitating that act.

Although recent studies have begun to change. . early
impressions that television coverage might be a major factor leading
to successive suicides, the evidence has been mixed.

While the researchers found no significant correlation between
the act of suicide and direct or indirect exposure to a previous

suicide, they did find that those who took their own lives were more

11 -



likely to have accumulated classic suicide risk factors before the
outbreak began. These included previous suicide attempts, having a
close friend or relative who died violently and so on.

For these reasons, Davidson’s group recommends against large
memorial gatherings at schools and repetitive media coverage that

provides vivid details of suicides.

Questions :

1. In the first study, the researchers did not find any relationship

2. The phrase “matched controls” (Para. 2, Line 4) refers to

3. What kind of young men are more likely to commit suicide?

4. What can be concluded through the study of teenage suicide?

5. What is the main idea of this passage?

Short Answer Questions 4

Directions: In this part there is a short passage with five questions
or tncom pletestatements. Read the passage carefully. Then answer
the questions or complete the statements in the fewest possible words.

“This Saturday is ‘the day of the five billion’. Give or take a

few weeks, it is the day when the world’s population passes this
«12 -
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